6¢

N \ B ! N
27227 "B E1IAER %
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S d & A Bl & A Bl & A
(=) [#AE] (a2=) [#E] (2=2) [#E] (22) |#E| (2=2) |[#E] (&%) LR
94 E B 34,730 11,760 142, 440 7,253 24, 875 19,410
9% & B 31,815 11, 261 112, 357 7,182 37, 285 31, 339
9% = B 18, 991 6, 898 144, 460 8, 437 21,132 22,570
97 & B 22,003 6, 735 165, 730 8,402 28,248 14, 586
98 & B 19,403 8,019 198, 521 10, 808 24,067 34,013
S L - - 5,027 | 1 - - | - 294 | 11 2,665 [ 4 12
i 2,298 | 4 - | - - - 160 | 9 2,060 [ 7 1,613 8 9
LR - | - - | - - | - 1,987 | 2 - - - | - -
FoooH B 958 | 7 264 | 3 1,719 | 5 520 | 8 2,680 | 5 - | - - 10
i % R 3,707 | 2 - | - 950 | 6 126 | 10 267 | 12 1,436 | 9 9 7
SR 713 | 8 - | - - - 1,487 | 3 665 | 9 2,216 | 6 4 8
: T LR - | - - | - - - - | - - - - | - 5 -
EIE N 1,570 | 5 2,363 | 2 - - - | - - - 2,564 [ 5 1 3
L 3,631 3 195 | 4 - - - - 3,326 | 3 608 | 11 14 5
£ & B 624 | 9 - - 500 | 8 894 | 5 3,587 | 1 647 | 10 6 2
£ & B 400 | 10 - - 122, 856 1 2,814 | 1 3,131 4 11, 583 1 7 6
k- S A 1 - - -] - 39, 591 2 790 | 6 2,172 | 6 3,702 | 3 8 1
BN R 4,428 1 170 | 5 3,706 | 4 - - 3,385 | 2 5,004 | 2 2 4
S G - - - | - - - - | - - - - | - 3 13
= i R 1,074 | 6 -] - 551 T 592 | 7 1,880 | 8 132 | 12 12 -
i A A -1 - -| - -1 - - - - - -1 - -
A K7 -1 - -| - -1 - - - - - -1 - -
3 A B - | - - | - - | - - | - - - -
£ ¢ @ - - - - - - - - - - 1,793
£ & 0 -| - - - - -| - 620 | 10 =
I -| - - - 28, 648 -| - -| - =
C R -| - - - - 1,378 -| - =
- - | - - | - - | - - - - -
£ o - | - - | - - | - - | - - - -
@ /-L ,‘Er';% - - - - - - - - - - -

~m!
=]
Sy
i
T3
I;)
T4
P
e
=4
M
ey
v
o
0%
\_
ey
g
o




21127~ 21 Bp "I 1 42T %

& B u =z BB e L 1A T R WEEYEE"
-k ’ W By # A Sl # A Sl & A vy &
(=2>=) ARES (=2>=) ARES AN (=>=) AR (2>%)
94 E: Vi 591 3, 756 - 256 325 2,045 - 299
95 E-: )i - 012 - - 1,125 5, 538 136 2,044
96 E-: )i - 3,776 - - - 5,619 - 40
97 E-: Vi - 2, 560 - - 200 2,122 - 325
98 E-: )i - 9, 027 - - 294 2, 665 - 353
By e o3t - 9, 027 - - 294 2,665 - 393
e k i - 9, 027 - - 294 2, 665 - 393
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K 4 G EA Al ER Al ER Al ER
ARD) o R D) o R D) D) o R (2>%)
94 E-: ;4 - - - - 300 - 456 1,063
95 E-: B 1,015 - - 459 3,474 850 98 925
96 E-: ;4 - - - 992 2,175 - - 122
97 E-: ;4 122 - 510 604 1,322 83 380 760
98 E-: ;4 2,298 - - 160 2, 060 1,613 912 1, 260
LR B L 2,298 - - 160 200 1,613 252 1,260
i3 & E 2,298 - - 160 200 1,613 252 1, 260
G L - B N - - - - 1, 860 - 260 -
N il E - - - - 460 - 130 -
# =+ T E - - - - 1,400 - 130 -
H s 2t - _ _ - _ _ 400 _
= e S - - - - - - 400 -
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¥-2 BoOOW % kB 1 qR Ry 1 A2 oW R W a1 4% R i 1A
'k i s s A b A b & A b A
(=2>=) (=>=) (=2>=) (=>=) (=2>=) (=>=) AR (=2>=)
94 E-: ;4 429 - 400 - - - - 576
95 E-: ;4 - - 595 150 - - - -
96 E-: ;4 - - 10 1,039 - 2, 364 - -
97 E-: B - - - 239 - - - 41
98 E-: ;4 - - - 1, 987 - - - -
G L - B N - - - 1,987 - - - -
3 # x - - - 481 - - - -
X =3 E - - - 346 - - - -
¥ o : - - 740 - : - :
B 3 S - - - 420 - - - -
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£ R W 2 R L S ko 1 A& BN R %3 AR
K 2 Ml Rb & A Sl A I A
(=2) 2 %) (2 %) (2 %) (2 %) (= %)
01 E: i3 I, 875 I, 269 - - - 783
95 # i3 1, 250 - 930 - - -
96 & B 725 - - 1, 180 600 972
97 # B - - 288 - 1,014 981
98 & B 958 264 1,719 520 2, 680 -
R RN 958 264 1,719 520 2,680 -
B L i 958 - - - 1,823 -
£ El 3 - - 1,719 520 857 -
i % i - 264 - - - -




#1526~ v F /4P AL ARF ¥
—

£ R M Z PN A 8 1 4% B R %3 e P EE"
K S B w17 A klr = A kl? & A ¥ l7
(2> &) (2> =) (2> =) (2> =) (2> &) AR (2=)
94 = ;3 2,023 617 - 1,630 L, 477 405 3, 103
95 = ;4 1,955 - - 635 - - 2, 266
96 = B 136 472 - 26 2,301 400 513
97 = B 698 1,420 426 - 834 1,270 1,919
98 = ;4 3, 707 - 950 126 267 1,436 993
LR LN 3,707 - 950 126 - 1,332 460
4 % * 1,792 - - - - 822 320
fs 13 * 1,915 - 93 126 - 510 140
< % * - - 857 - - - -
Fe(d)g @ o3t - - - - 267 104 533
& i * - - - - 267 24 464
il ki = - - - - - - 69
=) A2 * - - - - - 80 -
5 ) % - - - - - - -
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& S R 4 % Bl 1A% I 2 oW R 1 AR K i3 % i1 A%

k % Wl RP EA P & A e r & A P & A

AR AES (2>=) ANES AR (2>x=) AR (2>%)
94 # B 1,425 60 600 197 300 680 4,161 1,079
95 # B 4, 644 393 153 655 14, 063 - 4,104 1,548
96 # B - - 1,572 1, 459 2,675 1, 430 2,635 3, 627
97 E-: B 427 101 1,936 4,599 1, 255 100 3, 344 2,091
98 # B 713 - - 1, 487 665 2,216 2,185 1,576
LR L 411 - - 1,487 665 2,216 2,185 1,576
* % E - - - 405 - - 903 595
= e E 411 - - 182 120 1,586 532 692
& E - - - 900 545 630 750 289
G IDL-PLED 302 - - - - - - -
A i i 302 - . - - - - -
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# R W Z B e d 1 g 1 R AR RS X 3 4mig AR
k i 5| A £ v £ Hlr A Hlr £
(=%) > (=%) (=% (%) (=% 2~ &) (=%)
94 - A 1,038 1,320 - - - - - 2,206
95 = )i - - - - - 1, 350 - 1, 240
96 ¥ )i 2, 183 394 - - - - - 1, 640
97 ¥ )i 1, 881 - - - 375 - 012 950
98 & B - - - - - - 1, 961 -
K- RN - - - - - - 1, 961 -
5 i - - - - - - 1,155 -
k] 'k iz - - - - - - 806 -
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= R 5| 5 Bl 1 2 oW R 1 4R X i3 % i3 1 A2
'k b 5| S [F A . A 7 B3 w1 A
(2>=) A (2>=) ANES AR (2>x=) AR (2>%)
94 X B 6, 026 5953 2,200 498 6,413 5, 936 3,471 8, 363
95 ¥ )i 4, 325 180 584 - 728 1,953 2,971 4, 624
96 ¥ ;4 - - - - 570 1,737 1, 187 1,236
97 E-: )i 2,021 - - - 993 589 1,765 11,406
98 X ;4 1,570 2,363 - - - 2,564 7,012 8,719
L I o 1,570 2, 363 - - - 2,564 7,012 8,719
5 * - - - - - 840 3,149 2,677
it Kk x 1,570 2, 363 - - - 1, 724 3, 863 6, 042
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BB xd 1A g1 2 AR A A X i3 %
e B EA Sl? & A w17
AR (=>%) AR AR (2>%) o)
307 2,130 460 4,771 150 1,397
- 400 306 1,618 912 1,236
- 1, 363 215 2,507 105 60
248 174 - 806 514 1,287
195 - - 3, 326 608 301
195 - - 3, 326 608 301
195 - - 3, 326 608 301
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Bl 1Az pB 1 ) SR g F a1 AR
% ey % ey %l A #lr ey
AR R AR R AR AR AN (2>7)
7,032 90 973 1,006 3,001 300 1,212 6, 238
4,474 2,417 1,051 1, 289 2,037 298 876 3,034
3,972 100 368 922 899 232 67 5, 070
4, 066 1,058 1,588 262 750 550 1,211 3, 502
624 - 500 894 3, 587 647 1, 649 11, 643
624 - 500 894 3, 587 647 1, 649 11,643
- - - - - - - 334
- - - - - - 271 1,633
- - 500 250 - 647 453 6, 636
624 - - 644 3, 587 - 925 3, 040
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= R 5| 5 Bl 1 2 oW R 1 4R X i3 % i3 1 A2
'k b 5| S [F A . A 7 B3 w1 A
(2>=) (2> =) (2>=) ANES (2>=) (2>x=) AR (2>%)
94 E: 3 4,515 - 13, 540 2,407 - 635 1,700 916
95 ¥-2 ;4 4,579 - 13, 952 2, 358 4, 258 9,212 3, 589 1,923
96 ¥-2 ;4 6, 363 - 17,230 2, 245 2,300 1, 642 - 452
97 ¥-2 ;4 1,107 - 88, 950 2,165 3, 020 1,998 89 824
98 ¥-2 ;4 400 - 122, 856 2,874 3, 131 11,583 1,491 7,901
LR I L B 400 - 122, 856 2,874 3, 131 11, 583 1, 491 7,901
~ ¥ x - - - 102 1,975 - 105 546
& K x - - 402 - - 580 215 2,973
B < x 400 - 99, 971 2, 247 1,156 10, 853 1,171 3, 982
= = x - - 9, 983 925 - - - -
k5] 'k x - - 16, 500 - - 150 - -
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A A B ¥ 1 A PR R k1 fe KB EBY AR
b £ b ey b R b R
AR A (2>=) (2> =) AR (2>x=) AR (2>%)

744 1,038 28, 692 - 4, 958 468 1, 167 7, 962

380 2, 157 4, 477 - 454 1,208 110 5, 365

1, 250 843 32,477 359 - 1,315 - 3,079

- 212 37,783 - 1,200 2,202 - 6, 622

- - 39, 591 790 2,172 3, 702 1,080 16, 541

- - 39, 591 790 2,172 3, 702 1,080 16, 541

- - 11, 141 - 2,172 - - -

- - 28, 000 - - - - -

- - 450 790 - 3, 702 1, 080 16, 541




%2327~ B4 EkP 172 1 429 %5

S S ke g3 AE B 1 A A (R e VIR A
k i 5] R & A R & A wl? £ Rl £

(=) %) (=) (= %) (=) (= 2) 2 %) (= %)
94 +# B 621 462 2, 663 - 450 1,660 1,924 7, 136
95 # s 1,292 2, 402 589 1,260 - 3, 980 1, 877 5, 184
96 # s 1,083 1,313 1,995 - 1, 366 4,029 67 4,038
97 # s 1,939 500 610 - 9,611 1,709 1,585 1,512
98 # s 4, 428 170 3,106 - 3, 389 5, 054 3, 973 8, 909
LRI DL 1,358 170 3, 040 - 961 5, 054 3, 104 7,013
® K i* 1, 358 170 3, 040 - - 2,018 3, 104 7,013
N i* i* - - - - 961 3, 036 - -
Be(P)g e bt 3, 070 - 666 - 2,424 - 869 1, 496
* i# i* 3,070 - 666 - - - 278 1,312
¥ y % - - - - 944 - 68 -
% r % - - - - 530 - - -
5 = i - - - - - - 523 -
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BEooW % T B e d 1 qe B3 1 4 AR R ) X s a1 AR
K 5| R £S5 R ESS R 7 ESS Rl £
(=2) (=2) (%) (=) (%) (=) (%) (%)
2 B - 2,013 - - 872 - 275 -
& ;4 - 1,243 - 70 1,502 - - 400
& B - - - - 987 505 - 14
E: B 600 636 - - 1, 464 - 100 -
k2 B - - - - - - 2,876 265
IR SN - - - - - - 2, 876 265
3 ik - - - - - - 2,876 265
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#2524~ TCEERP AR D ARF 36
¥-2 B B % A e A R i oW R % a1 AR oy i3 1 AR
Kk b B % A %I A w1 A A HY
(2 =) (= =) (2 =) 2R &R (=22) 2R (2 =)
94 ¥:3 B 4,105 - 2,594 19 1,163 420 523 175
95 # B 4, 307 - 428 - 2,835 425 1, 384 637
96 # B 932 - 125 - 1, 965 130 380 -
97 # B 1, 380 - 4,140 - 4, 894 12 1,075 440
98 & B 1,074 - 551 592 1, 880 132 426 -
B 1,074 - 551 592 637 132 426 -
ENEE T S 341 — 551 592 487 N - N
= i x 733 - = = 150 132 426 -
R )E R L - - - - 1, 243 - - -
hat % % - - - - 400 - - -
£ % E ~ - - - 843 - - -
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'k | Fel7 B2 I B2 7 B2 7 &
(= 2) 2 %) (2 2) (= 2) (2 2) (=) &R w R
2 B - 275 - - 845 5, 408 -
# B 2, 666 1, 957 - - 1, 465 5, 613 -
& B - - - - - 147 -
& B 2,191 - - - - - -
# B - - - - - - -
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# BoOOW X Bl 1 2 AR 2 R i3 1 A2
'k £ Wl R & A Sl & A B £ b 0
AN (=>=) (=2>=) AR (=>=) (=>=) AR (=2>=)
94 ¥-2 Vi - - - - - - 90
95 ¥ B - - - - - 5 -
96 £ R - - - 2, 687 1,943 63 300
97 # i - 277 925 - 1, 156 625 116
98 £ i - - - - 1,793 447 103
- o - - - - 1,793 447 103
5 P - - - - 1,793 447 103
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kB d 1 qR o1 AR B R a1 AR K ig % i3 1 A2
k e £ Rl £ Rl £ Rl £y
AR (2> =) (2>=) (2> =) (2>=) AR AR (2>%)
820 - - - - - 570 -
928 - - - 480 - 400 -
- - 522 - - - - 135
- - - - 510 - - 23
- - - - 620 - 329 370
- o - - - - 620 - 329 370
- - - - 620 - - 200
- - - - - - 329 170
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8 B w0z A ko1 2 A S 4 KR 1
Kk i ) % 1r HEA b v B2 . ESS . &
(= %) (= %) (= ®) (= 2) (=) (= 2) =2 )

94 £ R 907 - 28, 648 - - - 50
95 & B - - 28, 648 - - - -
96 & B - - 28, 798 - - - -
97 & B 160 - 29, 048 - - - -
98 & B - - 28, 648 - - - -

N SLALP - - 28, 648 - - - -
¥ S % - - 12,098 - - - -
@ K % - - 14, 600 - - - -
= i= E - - 1,950 - - - _
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K k I A b £ S £ Wb E3

AN (2>) AR AR (=>=) (=>=) AR (=2>=)
94 E: Vi - - 775 - 520 - -
95 E-: )i - 550 - 3, 246 - - 406
96 E-: R - - - - - - -
97 E-: 4 - - 8 - - - -
98 ¥:2 4 - - 1,378 - - - -
0 I _ _ 1,378 — - — -
i3 K i - - 1,378 - - - -













